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In the following questions, three of the five words are related in some way.
Find the two words that do not go with these three words.

Example breakfast toast lunch potato supper
A  breakfast B toast C lunch D potato E supper
Answer toast potato
Solution  The words ‘breakfast’, ‘lunch’ and ‘supper’ are related because they
are all mealtimes. The words ‘toast’ and ‘potato’ are foods and do
not belong with these three words.
1 mouldy misty balmy cloudy foggy
A mouldy B misty C balmy D cloudy E foggy
inert motionless inept stationary listless
2 A inert B motionless C inept D stationary E listless
3 obedient stagnant compliant sturdy dutiful
A obedient B stagnant C compliant D sturdy E dutiful
4 placid composed poised collected assembled
A placid B composed C poised D collected E assembled
S repulsive serious hideous copious disgusting
A repulsive B  serious C hideous D copious E disgusting
6 bewildered subdued solemn confused baffled
A bewildered B subdued C solemn D confused E  baffled
7 deftly lively spirited animated arguably
A deftly B lively C spirited D animated E arguably
8 triumphant defiant victorious conquering dormant
A triumphant B  defiant C victorious D conquering E dormant
9 fantastic immense vast massive evasive
A fantastic B immense C vast D massive E evasive
1 O fragile furtive delicate frail pensive
A fragile B furtive C delicate D frail E  pensive
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Type B - Answers

Odd Two Out

1

mouldy & balmy

2

inept & listless

stagnant & sturdy

placid & assembled

serious & copious

subdued & solemn

deftly & arguably

defiant & dormant

fantastic & evasive

10

furtive & pensive
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